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• 
���� L � �������� N (p) = {q ∈ L � |xp − xq| + |yp − yq| + |zp − zq| = 1}�
{Hi}n

1 � ��� ��������� ����� Hi = 1 ����� ��� i��� ����	 ���
 �� ��
�	��	 ��!

• "���� ����
vip =

{
1 �# ���
 i ����$��
 �	 �	��� p�
0 	��������!

hpq =

{
1 �# ∃i, j � vipHi = vjqHj = 1;
0 	��������!

• %��

��&
∑
p∈L

∑
q∈N (p)

hpq � hpq, vip ∈ {0, 1} ∀i, p, q,

����$�������
n2∑

p=1

vip = 1,
n∑

i=1

vip ≤ 1

�������� 	�
���
∑

q∈N (p)

vi+1,q ≥ vip (i < n),
∑

q∈N (p)

vi+1,q ≥ vip (i > 1)

��	���$� hpq ≤
n∑

i=1

vipHi, hpq ≤
n∑

i=1

viqHi,

�������� �&�����	�� vm,pm = 1,
∑
p∈P

v1p = 1.

P = {p ∈ L � xp ≤ 4, yp ≤ 4, yp ≥ xp} = 1
2'��
���� %%%.
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y=xaxis of reflection:
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 ���������� �����
�(��
 �� )����� * )	��
 +�$	�������

��&
∑
p∈L

∑
q∈N (p)

hpq � hpq, vip ∈ [0, 1] ∀i, p, q,

����$�������
n2∑

p=1

vip = 1,
n∑

i=1

vip ≤ 1

�������� 	�
���
∑

q∈N (p)

vi+1,q ≥ vip (i < n),
∑

q∈N (p)

vi+1,q ≥ vip (i > 1)

��	���$� hpq ≤
n∑

i=1

vipHi, hpq ≤
n∑

i=1

viqHi,

�������� �&�����	�� vm,pm = 1,
∑
p∈P

v1p = 1.
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'���	 
��� vf � ��� ������� ��� �� σ(vf) = {(i, p) � vf
ip = 1}.

(����	���� ��
∑

(i,p)∈σ(vf )

vip ≤ n − 1�

v1,21 + v2,22 + v3,31 + v4,32 + v5,41 + v6,50 + v7,49 + v8,48 + v9,47 ≤ 8.

v1,29 + v2,30 + v3,31 + v4,32 + v5,41 + v6,42 + v7,51 + v8,60 + v9,69 ≤ 8.

%	 ���� ������ )�� * +1
2 � �� 	� ��	�����	�,
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&�-
��� vip = 0 �
 |xp − xpm
| + |yp − ypm

| > R * ����
� .���������/

R = 2
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R * $ �	 �0����� ⇒ 1 2 * ""1
3 .< "$1
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� � � 	 
 
 � � � � �

��		�� ���������,
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��	���� ��� * ������ V = {1, . . . , n}⇔ �����
��
E = {(i, j) � i < j, dij ≤ τ}

'���	 $ ��	���� ����� ����� ����	
���� �� ����
��� �� �������� ��3� �
 ��0����
�
������� ���� ��� ���������� ����� ��������	� ����� �
 ���4��	� ��-
�	����

(0������ 5�	6������	� 7���������	 ���� 8��
� * 9

G

G

1

2

.!��� ����6%������6)�	���6:���	3 ;$<<"=�/



��

#$% �� �����������

'���	� G1 = [V1, E1] �	� G2 = [V2, E2]�
8���������

xij =

{
1 �
 	���� i ∈ V1 �	� j ∈ V2 ��� ����������>
0 ����������

y(i,k)(j,l) =

{
1 �
 ����� (i, k) ∈ E1 �	� (j, l) ∈ E2 ��� ��������>
0 ����������

1�?������� ��0
∑

(i, k) ∈ E1

(j, l) ∈ E2

y(i,k)(j,l)�

��	�����	���

(	����	�� ����������� y(i,k)(j,l) ≤ xij �	� y(i,k)(j,l) ≤ xkl;

7���������	� 
	�-
��
∑
i∈V1

xij ≤ 1, ∀j ∈ V2 �	�
∑
j∈V2

xij ≤ 1, ∀i ∈ V1;

5�	6������	�� xij + xkl ≤ 1 
�� 1 ≤ i < k ≤ |V1| �	� 1 ≤ l < j ≤ |V2|.

i k

l j

������ ��������	��


x13 + x22 ≤ 1, x13 + x31 ≤ 1, x22 + x31 ≤ 1.

1 2 3

1 2 3

⇒ x13 + x22 + x31 ≤ 1︸ ︷︷ ︸ .

����	���

'�	�����
∑

(i,j)∈C

xij ≤ 1 
�� �	� .��0����/ ���-
�� C�
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1 2 3 4 5 6

1 2 3 4 5 6

) & ���
���	

j ∈ V2

i ∈ V1 " $ + @ 9 A

" <�"AB <�"AB <�"AB <�"AB <�"AB <�"AB
$ <�"AB <�+++ <�"AB <�"AB <�"AB
+ <�"AB <�"AB <�"AB <�"AB <�"AB <�"AB
@ <�"AB <�"AB <�"AB <�"AB <�"AB <�"AB
9 <�"AB <�"AB <�"AB <�"AB <�"AB <�"AB
A <�"AB <�"AB <�"AB <�"AB <�+++

+6���-
�� ⇒ 	� �C���>
@6���-
�� ⇒ 	� �C���>
96���-
�� ⇒ 	� �C����

1	�� A6���-
� ���

x16 + x25 + x34 + x43 + x52 + x61 ≤ 1

⇒ 	� �C���,
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���	���	� �	 �	� �������� �	�C������,

= 0x11 = 1x11

10.83

8.67 10.19

j ∈ V2

i ∈ V1 " $ + @ 9 A

" "
$ <�+++ <�+++ <�+++
+ <�+++ <�+++ <�+++
@ <�+++ <�+++ <�+++
9 <�+++ <�+++ <�+++
A <�+++ <�+++ <�+++

j ∈ V2

i ∈ V1 " $ + @ 9 A

" <�+<D <�"E$ <�<+D <�+<D
$ <�+<D <�"E$ <�"E$ <�"E$ <�""9
+ <�"E$ <�"E$ <�<BB <�"E$ <�<+D <�+<D
@ <�<+D <�"E$ <�"E$ <�"E$ <�"E$ <�"E$
9 <�+<D <�""9 <�<+D <�"E$ <�<+D <�+<D
A <�+<D <�"E$ <�+<D <�"E$
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